Puissances de Dix (E)

Trouvez chaque produit ou quotient.

49 - 1073 = 44 ~ 1073 =
76 ~107% = 30 X 1073 =
44 ~ 1073 = 22 =107 =
19 x 1073 = 41 +~1071 =
3+107%= 10 x 1072 =
13 x 1072 = 5+107%=

47 1073 = 99 - 1072 =
25 +1073 = 90 x 101 =
14 x 1073 = 36 -~1072% =
35 +-1072%= 75 ~ 1073 =
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Puissances de Dix (E) Solutions

Trouvez chaque produit ou quotient.

49 =+ 1073 =49 000 44 +1073 =44 000
76 - 1072 =7 600 30x 1073 =0,03
44 +1073 =44 000 22 +1071=220
19 x 1073 =0,019 41 +10"1=410
3+107%=300 10x107*=0,1
13x107*=10,13 5+107*=500

47 + 1073 =47 000 99 +~1072=9900
25 +107%=25000 90 x 1071=9

14 x 1073 =0,014 36 + 1072 =3 600
35+1072=3500 75 + 1073 =75 000
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